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cosf O141 = \/;sinﬁ
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(3 cos? 6 — 1) O 41 = \/%Sinﬁcose
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1
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x = rsinfcos ¢

y = rsinfsin ¢

z=rcosl
z
z=rcosf| \P(z,y,2) -
o/l Y=rsind cos (5 - ¢)
T = rsinfsin ¢
x =rsinfcos ¢ y
7 COS (g — 9) =rsinf
e °

xT

/15
@2,i2 = Esinze
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3.0<0<n0Y, =cosf00000000000YOOOOOOOOOODOOYOOOOOOOOOODO

O0000o0o0000oo00000moo0o00ooo0o0oooo000ooo0o0o0oonn Y,
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0 0 10 20 30 40 90 60 70 80 90
Y,, | 1.00  0.98 0.94 087 077 0.64 0.5 0.34 0.17 0.00
0 100 110 120 130 140 150 160 170 180
Y. -0.17 -034 -05 -0.64 -0.77 -—-0.87 —-094 -0.98 —1.00
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0 0 10 20 30 40 50 60 70 80 900

Ya, 200 191 1.65 125 0.76 024 -025 -0.65 -0.91 —1.00

0 100 110 120 130 140 150 160 170 180

Ya, -091 -065 —-0.25 0.24 076 1.25 1.65 1.91 2.00
0=0
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